EROHTREEYE - R No.l

].. WOFHEE LIS,

(1) 49 x 6 = (2) 5 x (—5) =
(3) (~54) x (~7) = (4) 12 x (—4) =
(5) 28 x (—0.6) = (6) 93.1 x 4 =
(7) (—4.2) x (—84) = (8) 98 x (—90) =

(9) (—3.4) x 8 = (10) (—14) x 0.3 =



2.

WOFHHERZ LIRSV,

wx(-3)-

(10) % X (—14) =



3. KONEEE Y GRDET LA S,

(1) 48 +4 = (2) 414+0.9 =

(3) (—175) + 0.7 = (4) 156 + 6 =

(5) (—441) = (=9) = (6) (—4.65) = (~1.5) =
(7) 410.4 + (—76) = (8) 36.08 + 8.8 =

(9) (—195) = (=5) = (10) (—6013) =7 =



4.

WOFHHERZ LIRSV,

W () (D)



5. komEr Lis,

(1) (~16) = (—4) x 8 = (2) (=7) x5 x (—6) =
(3) (—42) =7 x 6 = (4) (=6) x (—4) + 3 =
(5) (=504) + 9+ 7= (6) 8 x (—8) x 2 =

(7) 12+ (-3) x 2 = (8) (—27) + (—3) x (—4)

(9) 30+ (—=2) =5 = (10) 32+ (—8) x (—9) =



6.

WOFHHERZ LIRSV,

W (D))o



EROHTREEYE - R No.l

1. wostmsLrsn,

(1) 49x 6= 294 (2) 5x (=5)= —25
(3) (=54) x (=7) = 378 (4) 12 x (—4) = —48
(5) 28 x (=0.6) = —16.8 6) 93.1x4= 372.4
(7) (—4.2) x (-84) = 352.8 (8) 98 x (—=90) = —8820

(9) (-34)x8= —27.2 (10) (-14) x0.3= —4.2



2.

WOFHHREZ L&,
wox(§)= =5
0 (§)7 4= —31
o (-$)75= ~1g

(10) % X (—14)

1
3= o
3
3)= 5
2
3



3.

ROFEZRVUNDETLRS Y,

(1) 48 +4= 12

(3) (-175)~0.7= —250

(5) (—441) = (-9) = 49

(7) 4104+ (-76) = —5.4

(9) (—195) ~ (=5) = 39

(2) 414+0.9= 460

(4) 156 -6 = 206

(6) (—4.65) = (-1.5) = 3.1

(8) 36.08+-88= 4.1

(10) (—=6013) +7= —899



4.

WOFHEZ L7z X0,

()0 8

55
11 1
e
1 .17 o
993 %= By



5. komEr Lis,

(1) (=16) + (—4) x 8= 32 (2) (-=7) x5 x (=6)= 210

(3) (—42) +7x6= —36 (4) (—6)x (-4)+3= 8

(5) (=504) +9+7= —8 6) 8x (—8) x2= —128

(7) 12+ (-3)x2= —8 (8) (=27) + (=3) x (—4) = —36

9) 30+ (=2)+5= —3 (10) 32+ (—8) x (—9) = 36



6.

WOFHEZ L7z X0,



